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ERBF BMEK: 194 FEE: 6,827V hEREF BMEK: 14 FEHE6,196Y INER L F BMER 44 I 5363Y
o=y BB ¥R A 1R (OUT/IN) IBLL &5 R E R ¥R A 1R (OUT/IN) EfL &5 HIRE R ¥R 4 1R (OUT/IN)
Rim KH# BT REsZHH] 1 75 Tk EiE B/ 75 (37/38)
2 104 &M HA JHE/ME] 104 (50/54)
3 112 INER MTE REME] 112 (61/51)
4 147 HH FHE HAt/Ne] 147 (73/74)
BREF BMEY:4% BERE: 62707 INERBF SME 58 Ik 53637 0 #N/A
IEsE &5t BRES 2% 4 1R (OUT/IN) B &5t BRES ¥R 4 1R (OUT/IN) G &% i A ¥R 4 1R (OUT/IN)
1 71 JNUE EHE Hdke] 71 (38/33)
2 85 ®uL K F#e] 85 (40/45)
3 86 fEH BER  ErEuNe] 86 (43/43)
4 97 BB RE +HFEBENS] 97 (49/48)
5 113 &# R RG] 113 (60/53)
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ERBF SIMEL:19% EHE 6827V
o=y HEES ¥R A 1R (OUT/IN)
1 72 FaEE BRI \FINASZEERE] 72 (37/35)
2 76 ERAK B x 2 skl 76 (37/39)
3 78 ##ELU TR A E &l 78 (38/40)
4 79 \AE BT k2 32 79 (37/42)
5 80 /MUAN #HK * 2 =2 80 (39/41)
6 86 H EX * 2 3l 86 (44/42)
7 8 =H 72 5shl 86 (41/45)
8§ 98 KB 1 +HEITESR] 98 (52/46)
9 109 %FH 2 k2 Bl 109 (53/56)
10 111 &5 X8 » R 8] 111 (59/52)
11 119 HEiR BHE +HEIESN] 119 (63/56)
12 129 #Rk#E kA +RBAI%SNH] 129 (65/64)
13 134 HX KiE 8 » R &l 134 (72/62)
14 144 #H B 8 » R &l 144 (64/80)
15 161 Ik HE 8+ R 82 161 (78/83)
16 187 k& #X 8 v R 52 187 (88/99)
37 #iE RIA 8B ~+ R &2
BREF BMEL 42 s 6,270Y
Bt &5 HEES ¥R 4 1R (OUT/IN)
1 77 iIA@ ZE k2 52 77 (40/37)
2 79 £k DR 2 &l 79 (42/37)
3 121 HIE KB k2 5] 121 (63/58)
4 148 #)Il g2 +MEIESM] 148 (71/77)
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